

ಆಂಧ್ರ್ರವೆಕ್ आन्ध्र प्रदेश ANDHRA PRADESH

AS 969951

12 000341.70. 0016/3/120000/-Superinte Ex. Officio Star Romando Romando Superinte Ex. Officio Star Romando Romando Superinte Ex. Officio Star Romando Roman

Affidavit For Election to Council of States From Andhra Pradesh, 2012

I, RENUKA CHOWDHURY, wife of SREEDHAR CHOWDHURY aged 57 years, resident of H. No: 8-1-116, Khanapuram Haveli Village, Khammam Urban Mandal, Khammam Dist. Pin code: 507002, a candidate at the above Election, do hereby solemnly affirm and state on oath as under:

(1) I am a candidate set up by INDIAN NATIONAL CONGRESS Party.

(2)₅ Details of PAN and status of filing of Income Tax Return:

SI. No.	Names	Permanent Account Number	The financial year for which the last income tax return has been filed	Total income shown in Income Tax Return (in Rupees)
14	Self	AAJPC 7192E	2010-11	Rs. 13,10,804
2.	Spouse	ADCPC 2698B	2010-11	Rs. 1,85,16,437

(3) The following case(s) is / are pending against me in which cognizance has been taken by the court: NIL

Cases in which I have been convicted by a court of law (other those referred to in

Form 26: NIL

(5) That I give herein below the details of the assets (movable and immovable etc.) of myself and my spouse. I have no dependents:

A. Details of movable assets:

Sl. No.	Description	Self	Spouse	
(i)	Cash in Hand	Rs. 40,000	Rs.75,000	
(ii)	Details of deposits in Bank accounts (FDRs Term Deposits and all other types of Deposits including saving accounts), Deposits with Financial institutions, Non-banking Financial Companies and Cooperative Societies and the amount in each such deposit.	Rs.7,70,453	Rs.17,16,938	Details in Annexure – 5A (ii)
(iii)	Details of investment in Bonds, Debentures/shares and units in companies/ Mutual Funds and others and the amount.	Rs.75,99,494	Rs.7,31,64,029	Details in Annexure –5A (iii)
(iv)	Details of investment in NSS, Postal Savings, Insurance Policies and investment in any Financial Instrument in Post Office or Insurance Company and the amount.	Rs.50,00,000	Rs.23,00,000	Details in Annexure – 5A (iv)
(v)	Personal loans/advance given to any person or entity including firm, Company, Trust etc. and other receivables from debtors and the amount.	Rs.10,50,000	Rs.198,37,549	Details in Annexure – 5A (v)
(vi)	Motor Vehicles/Aircrafts/ Yats/Ships (details of Make, Regn. No. etc, Year of Purchase and amount.	NIL	NIL	
	Jewelry, bullion and valuable thing (give details of weight and value)	Rs.9,65,000	Rs.7,30,000	Details in Annexure – 5A (vii)
	Any other assets such as value of claims/interest	NIL	NIL	
IA)	Gross Total Value	Rs.154,24,947	Rs.978,23,516	

B. Details of Immovable assets:

(Note:

- Properties in joint ownership indicating the extent of joint ownership will also have to be indicated.
- 2. Each land or building or apartment should be mentioned separately in this format.

Sl. No.	Description	Self	Spouse	
(i)	Agricultural Land: Approximate Current market value	Rs.12,33,00,000	Rs.4,18,00,000	Details in
(ii)	Non-Agricultural Land : Approximate Current market value	NIL	Rs.2,50,00,000	Details in
(iii)	Commercial Buildings Approximate Current market value	NIL	Rs.15,00,00,000	Annexure – 5B (ii) Details in Annexure – 5B (iii)
(iv)	Residential Buildings Approximate Current market value	Rs.12,00,00,000	NIL	Details in Annexure – 5B (iv)
(v)	Others (such as interest in property)	NIL	NIL	Timerate - 3B (IV)
(vi)	Total of Current Market Value of (i) to (v) above.	Rs.24,33,00,000	Rs.21,68,00,000	

(6) I give herein below the details of liabilities / dues to public financial institutions and government: (Note: Please give separate details of name of Bank, institution, entity or individual and amount for each item)

Sl. No.	Description	Self	Spouse(s)
(i)	Loan or dues to Bank / Financial	Jen	Spouse(s)
	Institution(s): Name of Bank of FI Amount outstanding Nature of Loan	NIL	NIL
	Loan or dues to any individuals/Entity other than mentioned in (i) above. Name(s) Amount outstanding Nature of Loan	NIL	Rs.176,36,870 Details in Annexure – 6 (i)
	Any other liability	NIL	NIL
(;;)	Grand total of liabilities	NIL	Rs.176,36,870
(ii)	Government Dues: Due to departments dealing with government accommodation	NIL	NIL
	Dues to departments dealing with supply of water.	NIL	NIL
	Dues to departments dealing with supply of electricity	NIL	NIL
	Dues to departments dealing with supply of telephones / mobiles	NIL	NIL
	Dues to departments dealing with government transport (including aircrafts and helicopters) Income Tax Dues	NIL	NIL
	Wealth Tax Dues	NIL	NIL
	Service Tax Dues	NIL	NIL
		NIL	NIL
	Municipal / Property Tax Dues Sales Tax Dues	NIL	NIL
-	Any other dues	NIL	NIL
SHU		NIL	NIL
Ta	Grand total of all Govt. dues	NIL	NIL

Reculton

(7)

Details of profession or occupation: a. Self: Politics, Social Service b. Spouse: Industry / Business

(8)

My educations qualification is as under: Karnataka University: M.A: (Industrial Psychology): 1976

ABSTRACT OF THE DETAILS GIVEN IN (1) TO (8) ABOVE: (9)

1.		Name of the candidate		Smt. RENUKA CHOWD	HURV	
	2.	Full postal address		H. No: 8-1-116, Khanapuram Hayeli		
				Village, Khammam Urba	n Mandal,	
	3.	Number and Name of	the constituency and	Khammam Dist., Pin cod	e: 507002	
		State.	and constituency and	Andhra Pradesh		
	4.	 Name of the Political party which set up the candidate INDIAN NATIONAL CONC 		ONGRESS		
	5.	(a) Number of cases i	n which conviction	NIL		
		order passed (other than Form 26)	those referred to in			
		(c) Total number of pen	ding case where the	NIL		
		court(s) have taken cogni	izance.	1112		
	6.	PAN of	PAN	Year for which last	Total Income	
				Income Tax Return filed	Shown (Rs)	
		(a) Self	AAJPC7192E	2010-2011	13,10,804	
		(b) Spouse	ADCPC2698B	2010-2011	1,85,16,437	
	7.	Details of Assets and Li	abilities in rupees		1,00,10,107	
	Description		Self	Spouse		
A.		Moveable Asset (Total value)	Rs.154,24,947	Rs.978,23,516		
B.		Immovable Asset				
	i)	Purchase price and Development Cost of immovable Property (Total Value)	Rs.31,31,000	Rs.118,71,000		
	ii)	Approximate Current Market Price of Asset (Total Value)	Rs.24,33,00,000	Rs.21,68,00,000		
8		Liabilities				
	i)	Government dues (Total)	NIL	NIL		
	ii)	Loans from Bank, Financial Institutions and others (Total)	NIL	Rs.1,76,36,870		
9.		Highest educational qual	ification :			
		Karnataka University : M	faster of Arts (Indust	rial Devohalassa . 1076		

VERIFICATION

I, the deponent, above named, do hereby verify and declare that the contents of this affidavit are true and correct to the best of my knowledge and belief, no part of it is false and nothing material has been concealed there from. I further declare that:

- There is no case of conviction of pending case against me other than those mentioned in items
- (b) I, my spouse, or my dependents do not have any asset or liability, other than those mentioned in items 5 and 6 above.

Verified at HYDERABAN this the 1974 day of MARCH 2012

Deponent

ADVOCATE & NOTARY 3-5-1094/4D, Venkateshwara Colony, Narayanaguda, Hyderbad-29

1 9 MAR 2012

ANNEXURE-5A (ii) DETAILS OF MOVABLE PROPERTIES DEPOSITS IN BANKS, FIS & NBFCs

(1) <u>Smt. Renuka Chowdhury</u>: (as on 29 / 02 / 2012)

S.no.	Traine of the balk	(Rs.)
(i)	With State Bank of Hyderabad, Hubsiguda	24,341
(ii)	With State Bank of India, Secunderabad	39,778
(iii)	With State Bank of India , New Delhi	4,84,438
(iv)	With Scotio Bank, Banjara Hills , Hyderabad	2,21,896
	TOTAL	7,70,453

(2) Spouse: Sri Sreedhar Chowdhury:

S.no.	Traine of the balk	(Rs.)
(i)	With State Bank of India, Secunderabad	19,570
(ii)	With State Bank of Hyderabad, Hubsiguda	81,922
(iii)	With Scotio Bank , Banjara hills, Hyderabad	15,15,808
(iv)	With HSBC	99,638
	TOTAL	17,16,938



ANNEXURE-5A (iii)

DETAILS OF MOVABLE PROPERTIES EQUITY SHARES IN COMPANIES

(1) Smt. Renuka Chowdhury:

S.no.	Tame of the company	No. of Shares	Share Value	Book Value (Rs.)
(i)	Incon Engineers Limited	2,14,594	6.56	14,07,737
(ii)	The Oxygen Equipment & Engg. Co. Ltd.	1,310	163.88	2,14,683
(iii)	Fusion Chemicals & Products Pvt. Ltd.	5,800	173.28	10,05,024
	OXEECO Meditek Pvt. Ltd.	10,000	90.03	9,00,300
(v)	OXEECO Technologies Pvt. Ltd.	2,05,000	19.20	39,36,000
(vI)	Fusion Lastek Technologies Pvt. Ltd.	10	13575	1,35,750
	TOTAL	10	13373	75,99,494

(2) Spouse: Sri Sreedhar Chowdhury:

S.no.	mane of the company	No. of Shares	Share Value	Book Value (Rs.)
(i)	The Oxygen Equipment & Engg.Co.Ltd.	12,573	163.88	20,60,463
(ii)	OXEECO Meditek Pvt. Ltd.	81,710	90.03	73,56,351
(iii)	Incon Engineers Limited	20,57,079	6.56	1,34,94,438
(iv)	Fusion Chemicals & Products Pvt. Ltd.	65,800	173.28	1,14,01,824
(v)	Fusion Lastek Technologies Pvt. Ltd.	2,010	13575	2,72,85,750
(vi)	OXEECO Technologies Pvt. Ltd.	3,40,310	19.20	65,33,952
	Dension Hydraulics Ltd.	1,067	257	2,74,219
(viii)	Harsco India Pvt. Ltd.	3,39,788	14	47,57,032
	TOTAL	, , , , ,	11	7,31,64,029

Note: Share valuation as on 31 / 03 / 2011



ANNEXURE-5A (iv)

DETAILS OF INSURANCE POLICIES

S.No.	Time of the person	Policy No.	Policy Amount (In Rupees)
1	Smt. Renuka Chowdhury	85178	50,00,000
	TOTAL		50,00,000
2	Sri Sreedhar Chowdhury	640814438	1,00,000
		640825211	2,00,000
		85175	20,00,000
	TOTAL		23,00,000



ANNEXURE-5A (v)

DETAILS OF INVESTMENTS & ADVANCES

(1) Smt. Renuka Chowdhury:

Investments / Advances with

		(Rs.)
(i)	Share Application Money with Fusion Lastek Technologies	10,00,000
	Private Limited	
(ii)	Biogreen Sciences	50,000
	TOTAL	10,50,000

(2) Spouse: Sri Sreedhar Chowdhury:

Investments / Advances with

		(Rs.)
(i)	Ganapathi Finance & Investment Company	31,689
(ii)	Biogreen Sciences	50,000
(iii)	Advance for Land	15,000
(iv)	Incon Engineers Ltd.	6,50,000
(v)	Share Application Money with Fusion Lastek Technologies Pvt. Ltd.	1,60,20,000
(vi)	Share Application Money with Oxeeco Technologeis pvt. Ltd.	14,20,860
(vii)	Share Application Money with Harsco India pvt. Ltd.	16,50,000
	TOTAL	1,98,37,549



ANNEXURE-5A (vii)

DETAILS OF GOLD & SILVER ORNAMENTS

1. SMT. RENUKA CHOWDHURY:

S.No.	Description	Value (in rupees)
(a)	Diamond Earrings	2,25,000
(b)	Mangala Sutram with Chain 100 grams	2,70,000
(c)	6 Nos. of Bangles plain gold 50 grams	1,50,000
(d)	Gold payal 15 grams each	40,000
(e)	Miscellaneous Gold Chains, 50 grams	1,30,000
(f)	Miscellaneous Silverware	1,50,000
	Total	9,65,000

2. SPOUSE: SRI SREEDHAR CHOWDHURY:

S.No.	Description	Value (in rupees)
(a)	Gold Chain, 50 grams	1,40,000
(b)	Kurtha gold buttons ordinary	30,000
(c)	Diamond Ring	1,50,000
(d)	Gold Ring	50,000
(e)	Gold Ring	60,000
(f)	Miscellaneous Silverware	3,00,000
	Total	7,30,000



ANNEXURE-5B (i) DETAILS OF IMMOVABLE PROPERTIES AGRICULTURAL LAND

(1) Smt. Renuka Chowdhury:

S. no.	Description	Item-1	Item-2	Item-3	Item-4
1	*Location:	*Gagilapur Village R.R District	*Gagilapur Village R.R District	*Gagilapur Village R.R District	*Gagilapur Village R.R District
2	*Survey No.:	*204 to 208	*203	*201 & 202	*212/Part
2	Area (Acres)	13.1	19.98	36.74	1.09
3	Inherited	Yes	No	Yes	No
4	Purchase Date	NA	2003	NA	2008
5	Purchase Cost (Rs)	NA	20,00,000	NA	
6	Development Cost (Rs)	1,00,000	4,00,000	6,00,000	36,93,00,000
7	Approx. Market Value	520,00,000	800,00,000		10.00.000
8	% Share	100%		1500,00,000	40,00,000
9	Value of Share (Rs)		25%	33.3%	33.3%
		520,00,000	200,00,000	500,00,000	13,00,000
	Total: (Rs)			,	12,33,00,000

(2) Spouse: Sri. Sreedhar Chowdhury:

S. no.	Description	Item-1	Item-2	Item-3
1	*Location : *Survey No. :	*Gagilapur Village R.R District	*Mamidyala Village Medak District	*Mamidyala Village Medak District
2	Area (Acres)	*203	*264, 265, 266	*261/Part
3	Inherited	19.98	21.03	0.80
		No	No	No
4	Purchase Date	2003	1991	2009
5	Purchase Cost (Rs)	20,00,000	63000	63000
6	Development Cost (Rs)	4,00,000	5,00,000	1,00,000
7	Approx. Market Value	800,00,000	210,00,000	
8	% Share	25%		8,00,000
9			100%	100%
9	Value of Share (Rs)	200,00,000	210,00,000	8,00,000
	Total: (Rs)			418,00,000



ANNEXURE-5B (ii) NON-AGRICULTURAL LANDS

(1) Smt. Renuka Chowdhury: Nil

(2) Spouse: Sri. Sreedhar Chowdhury:

S.no.	Description	Item-1
1	*Location:	*Renigunta Village
	*Survey No.:	Chittoor District *66/2, *66/3, *71/1, *70(Part)
2	Area (Acres)	7.35
3	Inherited	No
4	Purchase Date	2004, 2010
5	Purchase Cost (Rs)	36,45,000
6	Development Cost (Rs)	4,00,000
7	Approx. Market Value	250,00,000
8	% Share	100%
9	Value of Share (Rs)	250,00,000
	Total: (Rs)	250,00,000



ANNEXURE-5B (iii) COMMERCIAL BUILDINGS

(1) Smt. Renuka Chowdhury: Nil

(2) Spouse: Sri. Sreedhar Chowdhury:

S.no.	- esemperon	Item-1	Item-2
1	*Location	*H.No: 6-3-907/912 Raj Bhavan Road	*Kakatiya Nagar Habsiguda
2 Exten	Extent	Somajiguda, Hyderabad	Hyderabad
		3850 Sq.yds 3240 Sq.ft	2525 Sq.m 5000 Sq.ft
3	Inherited	No	Yes
4	Purchase Date	1990-2006	NA
5	Purchase Cost (Rs)	50,00,000	NA NA
6	Development Cost (Rs)	10,00,000	15,00,000
7	Approx. Market Value	2400,00,000	
8	% Share	50%	900,00,000
9	Value of Share (Rs)	1200,00,000	33%
	Total: (Rs)	1200,00,000	300,00,000 1500,00,000



ANNEXURE-5B (iv) RESIDENTIAL BUILDINGS

(1) Smt. Renuka Chowdhury:

S.no.	Description	Details
1	*Location,	*H. No: 8-2-680, Road No.12,
		Banjara Hills, Hyderabad-34
2	Area (Sq. yds)	2300 Sq.yds
3	Building Area	8500 Sq.ft
4	Inherited	Yes
5	Purchase Date	NA NA
6	Purchase Cost (Rs)	NA
7	Development Cost (Rs)	10,00,000
8	Approx. Market Value (Rs)	12,00,00,000

(2) Spouse: Sri. Sreedhar Chowdhury : Nil



ANNEXURE-6 (i) LOANS (or) DUES

(1) Smt. Renuka Chowdhury: Nil

(2) Spouse: Sri. Sreedhar Chowdhury: (as on 29 /02 /2012)

Rupees

 (i) Shivani Rao
 :
 40,00,000

 (II) Poojita Chowdhury :
 49,50,000

 (iii) Spanex Products
 86,86,870

Total: 176,36,870





படுத்தி आन्ध्र प्रदेश ANDHRA PRADESH

AS 969952

SUB RECEST PAR

R.O. HYDERABAD.

FORM 26

(See Rule 4A)

Affidavit to be Furnished by the candidate before the Returning Officer for election to Council of States from Andhra Pradesh, 2012.

AFFIDAVIT

I, RENUKA CHOWDHURY, wife of SREEDHAR CHOWDHURY aged about 57 years, resident of H No: 8-1-116, Khanapuram Haveli Village, Khammam Urban Mandal, Khammam Dist. Pin code: 507002, candidate at the above Election, do hereby solemnly affirm/state on oath as under:

1. I am not accused of any offence(s) punishable with imprisonment for two years or more in a pending case(s) in which a charge(s) has/have been framed by the court(s) of competent jurisdiction.

2. I have not been convicted of any offence(s) [other than any offence(s) received to in subsection (1) or subsection (2) or covered in subsection (3), of section 8 of the Representation of the People Act, 1951 [43 of 1951)] and sentenced to imprisonment for one year or more.

Place: HYDERABAD Date: 19 MARCH 2012

VERIFICATION

I, the above named deponent, do hereby verify and declare that the contents of this affidavit are true and correct to the best of my knowledge and belief, no part of it is false and nothing material has been concealed therein.

Verified at HYDERABAD this the 19th day of MARCH 2012

AATTESHED

Signature of Deponent

Signature of Deponent